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QUESTION 1

Place the following commands to upgrade a Steelhead appliance from the CLI in the correct order. (NotE. include only
the necessary steps) 1) SH (config) image install image.img 2 2) SH (config) image fetch http://server/path/image.img 3)
SH (config) boot system 2 4) SH (config) restart clean 5) SH (config) reload 6) SH (config) write memory
A.1,2,3,4,5,6

B.2,3,51,6

C.1,2,54

D.2,1,3,6,5

E.1,23,6,5

Correct Answer: D

QUESTION 2

The Interceptor appliance cluster can support how many optimized connections?
A. 50,000

B. 100,000

C. 200,000

D. More than 200,000

Correct Answer: D

QUESTION 3

You are troubleshooting a new Steelhead Mobile installation where none of the VPN users with Steelhead Mobile client
installed are being optimized. You determine that the Steelhead appliance in the data center is not in-path for VPN
users. What are your options to fix this? (Select 2)

A. Use the Steelhead in an out-of-path deployment using fixed-target rules in the Steelhead appliance

B. Use the Steelhead in a hybrid in-path/out-of-path deployment using fixed-target rules in the Steelhead Mobile client
C. Put the Steelhead appliance in-path on the VPN concentrator segment using a multi-port NIC

D. Install the Steelhead Mobile Controller on the VPN segment

Correct Answer: BC

QUESTION 4
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It is not recommended to use the same Steelhead appliance to optimize both replication traffic and general user traffic
because:

A. Replication traffic uses 16 KB blocks and causes fragmentation in the datastore
B. User traffic may contain sensitive traffic and should not be mixed with other traffic
C. Replication traffic may cause admission control therefore affecting user traffic

D. The traffic pattern between the two types of traffic is generally very different and therefore the datastore may wrap
more quickly affecting performance

Correct Answer: D

QUESTION 5

The secure vault on the CMC appliance: (Select 3)

A. Is always enabled and uses AES 256-bit encryption

B. Can be enabled and supports 128, 192 and 256-bit AES encryption

C. Is always enabled and opens by default at startup if the secure vault password has not been changed

D. Has a default password which, if changed, means that it will need to be opened manually after each startup
E. Contains all configuration and SSL information

Correct Answer: ACD
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